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1. oo RIWR @ A0 d va Yeh IR
e : | 1x5=5
Choose the correct answer from the following
alternatives in each question :

(@) <O FRIAS GE TN THACOS oA (A
FE R oo R

The component of time series mainly
applicable in case of a fire in a factory is

() R TomfS
secular trend
P7/332 { Turn Over )



(2)

(i) IGRRE oA

random movement

() g Rors

seasonal variation

(iv) 5&w R

cyclical variation

(b) WWWWW?&

P7/332

Cost of living index number is used for

) TR &1 Fye ffy TRt

determining purchasing power of
money

() 2FS TG a9 FRete
calculation of reg] wages
(i) TN I3 FageETe
regulation of dearness allowance

(iv) SRR WbiRgeas
All of the above
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(o) RRH 431 I3[ @ A v @™

(@)

p7/332

Demand for goods ‘having several uses
is called

() Rz wtm

elastic demand

(i) wRfErR vk

inelastic demand

(i) T RSz vifRwl

less elastic demand

(iv) i wRfeReR vk

perfectly inelastic demand

P PR GPRYE W0l
In life table, the cohort is closed for
(i) SELPETR
immigration:
(i) IRzeEERT
emigration
(i) (i) S (i) TAOR
Both (i) and (ii)

fiv) €9 Qbre T
None of the above
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fe) ~AFRTRITE <7 IO p+36% A @

In statistical quality control, p +3c are
called

i) Rew ot M
specification limits

(i) AT ARgger S
natural tolerance limits

(iii) Reuprer R
confidence limits

(iv) FIR_q S

rejection limits

2. O PIIVN oY T fory 2x5=10

Answer the following questions in brief :

(a) T RIS TS B TR HREE R R
s T R R BRI T e
CART T 7
What are the methods for estimation of

trend in a time series? How would you

get the trend values for an observed
time series?

(b) T FN A, BT 5 Sy Reffieend < @m
uF B Refioma Qo w1

Prove that Fisher’s formula satisfies

time reversal test and factor reversal .
test.
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© v = e R e vk TR
BraEx 101
What is demand function? State the
mathematical demand functions.

(d) TR oA, teR PR, (R ARPRI S
o 7Y IR A |
Define vital events, vital statistics, vital
statistics ratio and cohort.

(e) BMI W WF Boere™ AW W. o

Explain the terms producer’s risk and
consumer’s risk.

3. (@) TR RERR I ST We @l T
21 | TR SRR M3 AR T fT
TG IR CIR TW? S IEST e @
oy ¢TAR I I 3+3+1=7
Explain the method of moving averages
for determination of trend. How do you
get a centred moving average in case of
an even order moving average? Describe
the merits of this method over other
methods.

wRT /Or
() FgES I (IR S TG s
89 % (TG e 91 | AR “RREfe

R AERER S 39 W, CRER Sy
11 4+3=7
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- Discuss the relative merits and demerits

of the four methods of measurement of
seasonal indices. Indicate the situations
where you would recommend the use of
a particular method.

MR TIRE R 7 RN SpIRE R A
TEEAR Ew T R SRR o
fRowet amReemss R speeie o 4 )
) 2+3+2=7

What are quantity index numbers? List

the important formulas for construction

of quantity index numbers. Explain
Laspeyres’ quantity index number as

an average of quantity relatives.

. 9_r /0r

RPN T PR T G B S
T R 2AFTS Te1 BT R T ogfda
TONE ST WA <64 | 4+3=7
Describe a method of constructing a
wholesale price index number. Discuss

briefly the nature of errors that may
crop up in this process.

maﬁmﬁammmdw—bp
qF mﬁﬁ%?@s:cp—d,ma, b,

¢ AI¥ d IR 59 | TyoR 1 W o
oA By || h
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The demand curve for a commodity is
d=a-bp and the supply curve is
S=cp~-d, wherea, b, ¢ and d are positive
constants. Find the equilibrium price
and the quantity exchanged.

we[T /Or

(b) T v TR p=4-5x% W, (TR
<1 & TR eReT o RS oF 9
7'q? : ‘ 5
If the demand function is p=4—5x2,

for what value of x, the elasticity of
demand will be unitary?

6. (a Wq@mwﬁﬁ@wmmﬁ?
TRTS TP 9 RE TR 21T TR
Ry THTPTIEA FRY ACA? TSR ASTF
o ATE AR o fan - 2+1+4=7
What are the crude death rate and °
specific death rate? Why are basic
measures of mortality adjusted to obtain
the standardized death rate? Describe
the direct and indirect measures of
standardization.

] /Or

() ga,wmmwwﬁmgﬂﬁ@m
qubW\'ﬂwmﬁmﬁ? e &,
oge o T T AR R @F =3I
TERA | 2+2+3=7
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Define gross and net reproduction rates.
How does gross reproduction rate differ
from total fertility rate? Show that the

NRR cannot exceed the GRR.
7. (o) Fwgr B T R0 fuge Be v iR
| I Fq0 3+4=7

What is control chart? Explain the
basic principles underlying the control
chart. ' )

5| /Or

() X W% R fwgd B wxampre amm w0
e ¥ owen fig 219 3+3+1=7

Explain in detail X and R charts. What
purpose do they serve?
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( Old Course )

Full Marks : 80
Pass Marks : 32

"Time : 3 hours

1. m%ﬁwﬁwwaﬁrﬁmm%mﬁrw&
fereat : : 1x8=8

Choose the correct answer from the following
alternatives in each question :

(@ THEAW ARG e we I@ @R

TANOF PR

The component of a time series attached
to long-term variations is termed as

fi) 5&% R34/ cyclic variation

(i) T TS/ secular trend

(iij) SfAafie ReA/irregular variation
(iv) S 1 SHIRCFLOI/AL of the above

(b) PITRR &I T W

P7/332

The index numbers are expressed
(i) *re%q Ro1%/in percentages
(ii) TS Ro1S/in ratios

(i) N A SFES/in terms of absolute
value

(iv) €T SHIRE2o1/All of the above
{ Turn Over )
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(10 )

ALAE EF APBT PIRFI AT 4
SHII! CR

The index number lies between
Laspeyres’ and Paasche’s index number
is

() R SpcE
Fisher’s index number
(i) wrifie-aeR T |
Marshall-Edgeworth index number
(iii) ACER P
Bowley’s index number
(iv) QAR 37 ToorRe

cost of living index number

(d) HER ] Fr© 7 71

P7/332

Fertility rates mainly depend on
(i) 2 3T TTPRYA eorS
total female population
(i) o EPRIA o[
total population
(i) 78R w1 B3 om i e Rem 5
GPRYON 89{©

total' female population of child-
bearing age

(iv) TRRF TG TR Sy 8AIS
the number of newly-born babies

{ Continued )
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(¢ NRR I¥ GRRI T SeoFThl A

The relation between NRR and GRR is

i) NRR ¥ GRR 3 FH
NRR and GRR are usually equal
(i) NRR (3016 GRROF TIeT XTI (TARI

NRR can never exceed GRR

(ii) NRR 4RATS GRRELF UeT
NRR is generally greater than GRR

(iv) SRR I8 T
None of the above

() Rest ImAR vif¥a T

p7/332

Demand for luxuries is always

(i) T

elastic

(i) SEfeReR
inelastic
(ifi) AT fewre
comparatively less elastic
(iv) S OIS T

None of the above
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(g) T FRE W @R FowE
The faults due to assignable-causes
(i) SR *nfd
can be removed
(i) SR AR
cannot be removed

(i) AT <R AR

can sometimes be removed

fiv) SIRT SORTERH!

All of the above
(h) 3¢ RTET TAIH oo @EOR  ¢o[{e
R
3-0 control limits are based on
() e
probability
(i) T Roe
standard deviation

(i) PG 3%
normal distribution

(iv) SR wBiRTTRH

All of the above
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(13)

Answer the following questions in brief :

(@)

()

(c)

(d)

(e}

(9)

P7/332

@ CiA v SfRer e |

Define cyclic variation of time series.

T PIF dFR aﬂ@wi%@m
BrEy |1

State the problems involved in the
construction of price index number.

aﬂwm,mﬂwmgﬁmw

wfd%F 2’37 @RI |
Show that NRR cannot exceed GRR.

Rfxd B2 T e IS B R IR
Sgerg PRI FARA?

What is base period? What precautions
should be taken in its selection?

e B 30 Pugd K Fea & 02
What do you understand by 3¢ control
limits of a control chart?

vk T e e i |

Define price elasticity of demand.

p-foaa SR Temd 9, c@fem i) I fan
QqICE O (i) T T FUCE |

Mention the limits of P-chart, when
(i) standards are given and (i) standards
are not given. .

( Turmn Over )
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(h) & O 2R Tl SRR S 1

3. {a)

(b)

4. (a)

P7/332

Mention two assumptions made in the

. construction of a life table.

T AR A T R R0 Tmepi
HOFA T 1 wwey I @S WA
@A o R Ry IRT AR, 36
1 2+4+4=10
What are the different components of
a time series? Explain them with
examples. Explain how secular trend

can be determined by the method of
least squares.

_r /Or

@ R A5 iTe e wEw SRTeR
R TR w901 I e 99
wige MR 30 S @R R B
: 3+3+4=10
Explain with examples about seasonal
variation and cyclical variation in time
series. Write about any method of
measuring seasonal variation of time

series.

T Refllert R o @ RoRe
AP T T oy @, RwE PR
W« P TR oe Ry YR ORI
s e ffr w4 - 3+3+5=11

Explain time reversal test and factor
reversal test. Show that Fisher’s index

( Continued )
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number satisfies both these tests.
Compute Fisher’s index number from

the following data :
® R ok
Articles Base period Current year
Po 90 Py 1|
A 15 10 20 15
B 12 16 15 25
c 18 25 22 30
D 26 30 32 35
{1 /Or
() SRR T P e R e TR
oFeIR RiSw smewPifR Rea Sy 01

4+7=11
What do you mean by cost of living
index number? Mention about different
steps in the construction of cost of living
index number.

5. ﬂﬁmtﬁ’r&%mmmﬁ?ﬂﬁmwﬁ%

/A v R e & 23, MR p=37?
2+5=7
What is price elasticity of demand? What
is the price elasticity of demand for the
‘demand curve x = 20 at p=3?
p+1
6. (o) SIS TPR I 9 (PR TPRIR [9R ]
AR @1 Rem @ TR 2 T w7, o bl
el F=we IR e ot WR @
SRS e FRA1? 5+9=14
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Is CDR an accurate measure of mortality
of population of a country? If not,

how will you modify it to give reliable
results?

% /Or

(b) A B GPRAIR IO W RIS A
¥R T W T W R Temy w0
TIF TS G AHFWR TR IR TJoo0T
so7e YT R o 9+5=14
Describe three measures which are
in use for determination of the fertility
trend in a population and discuss their
utility as indices of population growth.

7. R Q0N Pi oo Taw 7x2=14
Answer any two questions : .
(a) T PIT M7 IJAECS BT QA TPVRRA
_ R wcamssn )

Discuss the problems involved in the
construction of price index number.

(b) C-foem T Ryew foran
Write about the application of C-chart.
“(c) o R ot
Write short notes on :
fi) T oW TN
Gross reproduction rate
(@) oFe IFH ]| -

Net reproduction rate
* Kk
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